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I "y mwn: further details of the 10 and the virmITIR
a annn oo whois a jnd generates nm N Nk for his wife
i ®"o only one who can reproduce can generate nn1In NY IR — H"np
ii 9" only (j2277) ntn 12 NMAN, but not MW AN, nor even (1) PIWI NN AT 2177 NN
iii 1INy '3 even RNPMRT NN, Py NN as well
1 arqument (for no 7712): even a piece of NNV NroVN is null among 100 MYV NRYN MNN
(a) dissent: nm 1 doesn’t allow for nullification
(b) Caveat: if 1 piece of nxron fell among 100 pieces of 191, all agree that there is no %1022
(c) text rationale: (in reading of n™’s ruling in 13 n9) only that which is always counted out isn’t null
2 counter: fig-wheel of nmn is null among 100 fig-wheels of P10
(a) text rationale: anything which is ever counted cannot be nullified
(b) defense: (against nron Yw M nN) — piece of meat was broken apart
(i) explanation: nTiv "1 is consistent — he holds Yva R n1a Pn
(if) question: why not clarify within caveat of P5mna nxron?
(iii) Answerl: teaching about mmnva MMMnv is preferred
1. Challenge (to 57): if case is broken piece (no longer significant), why in X0 is there no 51v2?
(iv) Answer2: (reject “broken up piece”)
1. w7 case of Ppwn nrmv which is 11277; since piece isn’t always counted, we allow 91072
2. KoD. case of 119 »WTp — which is n”nn — no N2
3. challenge: why not clarify that Xw»™ only applies to 11277 nkmV?
(V) Answer3 (727): RO is a 1RY (we treat leniently); >0 is a case of N1
1. challenge: n21 himself said that we don’t distinguish when it comes to “concern”
(vi) answer4 (»wx 17) (rejected): >0 is a 1NN 1Y VW 727
3 Challenge (to 121172 77): how can he claim n”nn r”nra nmAn, when he is lenient about the 2 boxes?
(a) Case: 2 boxes, 1 nmyn, 1 p9m; fell into 2 containers — we assume that PYIn->1%n, nMaIn->nman
(1) 7. even if the nmIn/PYIn ratio was 50/50 20" 1”n12 NN
4 answer: 1N " himself agrees that "1 1”12 NmN; he was interpreting our Nwn under the assumption that
the author is o1 "7, who maintains (based on v. 1 —in n% 770 W171) that the 2" nwyTp was permanent
(a) Challenge: doesn’t 3Ny "7 require a 217 in favor even in a nullification of an 13297 MYR?
(i) Proof: 3y *7’s ruling about mpn — if taking 1 nRko out and returning 1 (12277 — 1P21RW D>n); he only
allows until majority
(if) Answerl: he allow up until a majority has been taken out (i.e. 50/50 is ok)
(iii) Answer2: in the case of nmn, I have the argument of IR 1RW (we can assume that the pon fell
into the 5N etc.; i.e. we have a reasonable interpretation of reality which obviates the need for
9001 at all)
b owMIMR generates NN NYIR for his wife (NYnw M YoV ")
nmi M if a DVMY was opened up and found to be male — still doesn’t give n¥%n (considered as a ©1v)
d ow»ITIR: marries as a male
i ®™:one is liable for relations with an ©1"7MIR as with a male
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